
 øi.52,5  Ø54 

 ØE.54,5 

 120 

 Ø85 

 Ø50 

S.S. Pipe n°1244
P/N 308099201

3x Flange Nuts M8
P/N 200298

2x S.S. Clamps Ø57
P/N 300057530

OPTIONAL 2x
M12 Lambda Plug kit
P/N 5683

Allen Screw 
M8X45 
P/N 201450

Washer Ø8xØ24  
P/N 200321

Washer ø8xØ16   
P/N 200294

Allen Screw 
M8X25  
P/N 200314

Alu Spacer
Ø27 ø8,5 h11 
P/N 204321

ATTENTION!
USE WITH MODELS
2016>2020 TYPE RN45
S.S. Bracket
P/N 308099501

ATTENTION!
USE WITH MODELS
2021> TYPE RN78
S.S. Bracket
P/N 088099004

do NOT USE
stock bushings

M12

M12

- Disconnect the control cables from the exhaust valve on the actuator side; 
   by removing the original link pipe with the catalytic converter, 

  also the valve connected to the link pipe and the cables are removed. 
  The valve’s servo motor should not be removed or disconnected.

WARNING
  

   - Fitting the kat eliminator it is advisable to optimize the carburation by remapping 
  the stock ECU or by adopting an additional ECU unit.

Allen Screw 
M8X20 
P/N 200722

ART. 8099

YAMAHA MT-10 / FZ-10 / SP
Compatible with LeoVince exhaust 
15203-15203B-15203C-15203T-15405B-15405C-15405T ONLY

CAT ELIMINATOR - STAINLESS STEEL


	DT-8099
	Vista del disegno11


